Problems #12, Math 203, Dr. M. Bohner. Apr 26, 2000. Due May 3, 8:30 am.
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Show that eigenvectors corresponding to different eigenvalues are linearly independent.

Diagonalize the following matrices, if possible. If not possible, explain why it is not possible.
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Find the kth power of each of the matrices from the previous problem.

Suppose ro = r; = 1 and r, 43 = r, + 2r, 1 for each n € N. Find a formula for r,, for each
n €N

Work on all exercises from Section 5.3.

Work on at least ten exercises from the Review Exercises of Chapter 5.



